* SPSS syntax.
* ANZSCO Minor Group - AUSEI06 conversion file.
RECODE

 ANZSCO
(100  =  58.1)
(110  =  78.2)
(111  =  78.2)
(120  =  34.0)
(121  =  34.0)
(130  =  71.4)
(131  =  72.2)
(132  =  80.3)
(133  =  62.1)
(134  =  78.6)
(135  =  69.7)
(139  =  78.6)
(140  =  45.4)
(141  =  46.2)
(142  =  40.8)
(149  =  53.3)
(200  =  81.6)
(210  =  68.1)
(211  =  67.0)
(212  =  75.1)
(220  =  77.3)
(221  =  83.7)
(222  =  75.9)
(223  =  66.2)
(224  =  81.9)
(225  =  71.5)
(230  =  81.2)
(231  =  77.4)
(232  =  73.9)
(233  =  86.1)
(234  =  86.4)
(240  =  84.9)
(241  =  85.3)
(242  =  87.5)
(249  =  77.9)
(250  =  85.1)
(251  =  83.3)
(252  =  88.7)
(253  =  100.0)
(254  =  80.7)
(260  =  81.3)
(261  =  81.3)
(262  =  81.3)
(263  =  81.3)
(270  =  84.4)
(271  =  90.7)
(272  =  80.2)
(300  =  35.9)
(310  =  57.7)
(311  =  55.4)
(312  =  55.8)
(313  =  63.6)
(320  =  30.4)
(321  =  24.7)
(322  =  27.7)
(323  =  40.0)
(324  =  25.4)
(330  =  36.4)
(331  =  37.0)
(332  =  35.4)
(333  =  36.3)
(334  =  36.2)
(340  =  41.0)
(341  =  39.6)
(342  =  42.7)
(350  =  21.2)
(351  =  21.2)
(360  =  32.7)
(361  =  31.8)
(362  =  33.0)
(390  =  33.5)
(391  =  25.2)
(392  =  34.9)
(393  =  35.7)
(394  =  24.2)
(399  =  45.0)
(400  =  41.7)
(410  =  60.0)
(411  =  60.0)
(420  =  34.9)
(421  =  37.3)
(422  =  35.0)
(423  =  33.6)
(430  =  34.7)
(431  =  34.7)
(440  =  47.8)
(441  =  56.3)
(442  =  37.0)
(450  =  49.8)
(451  =  47.1)
(452  =  54.0)
(500  =  45.6)
(510  =  57.4)
(511  =  67.4)
(512  =  49.3)
(520  =  44.8)
(521  =  44.8)
(530  =  41.9)
(531  =  42.6)
(532  =  39.3)
(540  =  37.3)
(541  =  45.1)
(542  =  32.9)
(550  =  48.8)
(551  =  48.4)
(552  =  49.4)
(560  =  37.7)
(561  =  37.7)
(590  =  47.1)
(591  =  39.0)
(599  =  54.3)
(600  =  34.8)
(610  =  50.7)
(611  =  48.3)
(612  =  55.0)
(620  =  30.8)
(621  =  30.8)
(630  =  32.0)
(631  =  28.3)
(639  =  43.7)
(700  =  21.0)
(710  =  25.1)
(711  =  16.8)
(712  =  31.5)
(720  =  14.7)
(721  =  14.7)
(730  =  21.1)
(731  =  30.3)
(732  =  30.9)
(733  =  14.5)
(740  =  20.8)
(741  =  20.8)
(800  =  18.5)
(810  =  20.4)
(811  =  20.4)
(820  =  23.3)
(821  =  23.3)
(830  =  12.1)
(831  =  13.0)
(832  =  8.9)
(839  =  16.3)
(840  =  11.0)
(841  =  11.0)
(850  =  22.0)
(851  =  22.0)
(890  =  24.8)
(891  =  21.8)
(899  =  26.5) INTO AUSEI06.
EXECUTE.
